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DIRECTIONS: 
In each sentence below four words that the printed in 
bold have been lettered (1), (2), (3), (4) and (5). One 
of them may be wrongly spelt or inappropriate in the 
context of the sentence. Find out the word, which is 
wrongly  spelt  or  inappropriate  if  there  is  any.  The 
letter of that word is the answer. 
If all the  words,  which  are printed in bold , are 
correctly spelt and appropriate in the context of the 
sentence, mark (5) as the answer i.e. All correct. 
 
1) People should constantly 1)/ upgrade their skills 2)/ 
in order to be effective 3)/ and efficient 4)/ All correct 
5)/ 
a) People should constantly 
b) upgrade their skills 
c) in order to be effective 
d) and efficient 
e) All correct 
 
2) The designer will showcash 1)/ her collection 2)/ at 
an upcoming 3)/ fashion 4)/ event in the city. All correct 
5)/ 
a) The designer will showcash 
b) her collection 
c) at an upcoming 
d) fashion 
e) event in the city. All correct 
 
3) The milk vendor 1)/ studied hard 2)/ for four years 
before  topped  3)/  the  national  level  4)/  exam.  All 
correct 5)/ 
a) The milk vendor 
b) studied hard 
c) for four years before topped 
d) the national level 
e) exam. All correct 
 
 
4) In his speech Mr Leeladhar revealed 1)/ that banks 
have to comply 2)/ with Basel norms 3)/ last by March 
next year. 4)/ All correct 5)/ 

a) In his speech Mr Leeladhar revealed 
b) that banks have to comply 
c) with Basel norms 
d) last by March next year 
e) All correct 
 
5) Though the government initiated 1)/ a large sum 2)/ 
of  money  in  the  scheme  3)/  it  was  a  failure  4)/  All 
correct 5)/ 
a) Though the government initiated 
b) a large sum 
c) of money in the scheme 
d) it was a failure 
e) All correct 
 
6) There were many objectives 1)/ from employees to 
the proposa l 2)/ to amend 3)/ the regulations 4)/ All 
correct 5)/ 
a) There were many objectives 
b) from employees to the proposa l 
c) to amend 
d) the regulations 
e) All correct 
 
7) In case of any land dispute 1)/ panchayat officials 2)/ 
will determine 3)/ how the property is to be dividend 
4)/ All correct 5)/ 
a) In case of any land dispute 
b) panchayat officials 
c) will determine 
d) how the property is to be dividend 
e) All correct 
 
8)  Mr  Banerjee  is  a  popular  1)/  leader  since  he  del 
igates  2)/  authority  3)/  to  his  subordinates  4)/  All 
correct 5)/ 
a) Mr Banerjee is a popular 
b) leader since he del igates 
c) authority 
d) to his subordinates 
e) All correct 
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9) The most wonderfullest 1)/ thing about miracles 2)/ 
is that they sometimes 3)/ happen. 4)/ All correct 5)/ 
a) The most wonderfullest 
b) thing about miracles 
c) is that they sometimes 
d) happen. 
e) All correct 
 
10) The Chairman has promissed 1)/ to look 2)/ into the 
matter 3)/ and take necessary 4)/ action. All correct 5)/ 
a) The Chairman has promissed 
b) to look 
c) into the matter 
d) and take necessary 
e) action. All correct 
 
11)  The  thief  who  was  in  the  possession  1)/  of  the 
police  escaped  2)/  but  the  police  refrained  3)/  from 
chassing 4)/ him. All correct 5)/ 
a) The thief who was in the possession 
b) of the police escaped 
c) but the police refrained 
d) from chassing 
e) him. All correct 
 
12)  We  often  1)/  ask  our  customers  to  give  us  their 
opinions 2)/ and suggest ions 3)/ for improvement 4)/ 
All correct 5)/ 
a) We often 
b) ask our customers to give us their opinions 
c) and suggest ions 
d) for improvement 
e) All correct 
 
13) I want to express 1)/ my appreciation 2)/ of the help 
offered 3)/ by my former colleages. 4)/ All correct 5)/ 
a) I want to express 
b) my appreciation 
c) of the help offered 
d) by my former colleages. 
e) All correct 
 

 
14) Lina was 1)/ the first 2)/ one to reech 3)/ the venue 
4)/ All correct 5)/ 
a) Lina was  b) the first 
c) one to reech   d) the venue 
e) All correct 
 
15) The Government is certain 1)/ to amend 2)/ the law 
to prevail 3)/ the crisis 4)/ All correct 5)/ 
a) The Government is certain 
b) to amend 
c) the law to prevail 
d) the crisis 
e) All correct 
 
16) He was convinced 1)/ that discipline 2)/ and hard 
work would result 3)/ in dividents 4)/ in the long run. 
All correct 5)/ 
a) He was convinced 
b) that discipline 
c) and hard work would result 
d) in dividents 
e) in the long run. All correct 
 
17) Vinayak is a shrewd 1)/ person, any moment 2)/ he 
may create 3)/ a truoble 4)/ for you. All correct 5)/ 
a) Vinayak is a shrewd 
b) person, any moment 
c) he may create 
d) a truoble 
e) for you. All correct 
 
18) The bored 1)/ of governors meets 2)/ once every 
month  to  discuss  3)/  the  organisation’s  policy  4)/  All 
correct 5)/ 
a) The bored 
b) of governors meets 
c) once every month to discuss 
d) the organisation’s policy 
e) All correct 
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19)  Much  1)/  countries  are  starting  to  turn  2)/  their 
attention 3)/ to new sources 4)/ of energy. All correct 
5)/ 
a) Much 
b) countries are starting to turn 
c) their attention 
d) to new sources 
e) of energy. All correct 
 
20) If they want to maintain 1)/ their current rate of 
expansion 2)/ they have to consider 3)/ these 
parametres 4)/ All correct 5)/ 
a) If they want to maintain 
b) their current rate of expansion 
c) they have to consider 
d) these parametres 
e) All correct 
 
21) This is a prime 1)/ example 2)/ of what the 
government  can  achieve  3)/  if  it  is  determine  4)/  All 
correct 5)/ 
a) This is a prime 
b) example 
c) of what the government can achieve 
d) if it is determine 
e) All correct 
 
22) The atmosphere 1)/ was fragrent 2)/ with the scent 
3)/ of rose flowers 4)/ All correct 5)/ 
a) The atmosphere 
b) was fragrent 
c) with the scent 
d) of rose flowers 
e) All correct 
 
23) We must feal 1)/ love for all, no matter 2)/ whether 
3)/ they are of our own family or strangers or whether 
they are rich or poor 4)/ All correct 5)/ 
a) We must feal 
b) love for all, no matter 
c) whether 

d) they are of our own family or strangers or whether 
they are rich or poor 
e) All correct 
 
24)  In  our  opinion  the  exicting  1)/  assessment  2)/ 
system required immediate 3)/ revision. 4)/ All correct 
5)/ 
a) In our opinion the exicting 
b) assessment 
c) system required immediate 
d) revision. 
e) All correct 
 
25) Though these programmes have proved 1)/ to be 
extremely 2)/ effective 3)/ they do have certain 
drawbacks 4)/ All correct 5)/ 
a) Though these programmes have proved 
b) to be extremely 
c) effective 
d) they do have certain drawbacks 
e) All correct 
 
26) The gradual 1)/ withdrawal 2)/ of such safety 3)/ 
mechanisims 4)/ will affect small and medium 
industries the most. All correct 5)/ 
a) The gradual  b) withdrawal 
c) of such safety d) mechanisims 
e) will affect small and medium industries the most. All 
correct 
 
27)  He  is  in  complete  1)/  agreement  2)/  with  your 
analyze 3)/ of the situation 4)/ All correct 5)/ 
a) He is in complete 
b) agreement 
c) with your analyze 
d) of the situation 
e) All correct 
 
28) Since our financial resources 1)/ are limitless 2)/ we 
cannot afford 3)/ this alternative. 4)/ All correct 5)/ 
a) Since our financial resources 
b) are limitless 
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c) we cannot afford 
d) this alternative. 
e) All correct 
 
29) On the basics 1)/ of this data 2)/ it is worthwhile 3)/ 
to take this risk 4)/ All correct 5)/ 
a) On the basics  b) of this data 
c) it is worthwhile d) to take this risk 
e) All correct 
 
30)  Ways  and  Means  Advances  is  a  facility  1)/  under 
which  the  government  can  borrow  2)/  from  RBI  to 
meet its revenue 3)/ requirments 4)/ All correct 5)/ 
a) Ways and Means Advances is a facility 
b) under which the government can borrow 
c) from RBI to meet its revenue 
d) requirments 
e) All correct 
 
31)  After  the  presentation  1)/  it  was  clearly  2)/  that 
they were not interested 3)/ in financing 4)/ the 
project. All correct 5)/ 
a) After the presentation 
b) it was clearly 
c) that they were not interested 
d) in financing 
e) the project. All correct 
 
32) She had not eaten 1)/ anything 2)/ for a very long 
time  now  and  her  stomach  3)/  was  groling  4)/  All 
correct 5)/ 
a) She had not eaten 
b) anything 
c) for a very long time now and her stomach 
d) was groling 
e) All correct 
 
33) Almost all risk-taking 1)/ work involve 2)/ decision 
3)/ making under uncertainty. 4)/ All correct 5)/ 
a) Almost all risk-taking 
b) work involve 
c) decision 

d) making under uncertainty. 
e) All correct 
 
34) The shortage 1)/ of rice has led 2)/ to a severe food 
crises 3)/ in the region 4)/ All correct 5)/ 
a) The shortage 
b) of rice has led 
c) to a severe food crises 
d) in the region 
e) All correct 
 
35) Shareholders used to be liabel 1)/ for the debts 2)/ 
of the company in proportion 3)/ to the size 4)/ of their 
holdings. All correct 5)/ 
a) Shareholders used to be liabel 
b) for the debts 
c) of the company in proportion 
d) to the size 
e) of their holdings. All correct 
 
36) This project 1)/ is in its final faze 2)/ of completion 
and is expected 3)/ to be ready 4)/ by the end of this 
year. All correct 5)/ 
a) This project 
b) is in its final faze 
c) of completion and is expected 
d) to be ready 
e) by the end of this year. All correct 
 
37) An economy relies 1)/ on its access 2)/ to 
dependable 3)/ and affordable 4)/ sources of energy. 
All correct 5)/ 
a) An economy relies 
b) on its access 
c) to dependable 
d) and affordable 
e) sources of energy. All correct 
 
38)  I  repriminded  1)/  him  for  using  humiliating  2)/ 
language while addressing 3)/ the audience. 4)/ ll 
correct 5)/ 
a) I repriminded 
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b) him for using humiliating 
c) language while addressing 
d) the audience. 
e) ll correct 
 
39)  An exhorbitantly  1)/  rigid  attitude may  prove 2)/ 
very dangerous, 3)/ even fatal 4)/ All correct 5)/ 
a) An exhorbitantly 
b) rigid attitude may prove 
c) very dangerous, 
d) even fatal 
e) All correct 
 
40) One can succeed 1)/ in business unless 2)/ one is 
prepared 3)/ to take risks 4)/ All correct 5)/ 
a) One can succeed 
b) in business unless 
c) one is prepared 
d) to take risks 
e) All correct 
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